= A
N = 0] &F AF S & AN A
20148 = 20l A LEHSH EAFAIE A
SN BB
HM: HIISA(BEES/HIIS)
Ee: MYDIIHEE 29 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
AN A 3,929,053 545,369 3,383,684
= 950,000
= 200,000
Al 2,779,053
HIoIS2e (B ES/HIIZ) 3,834,682 454,138 3,380,544
= 950,000
= 200,000
Al 2,684,682
MYDIHEE 29 3,459,082 358,538 3,100,544
= 950,000
== 200,000
Al 2,309,082
grel M D]l F MO 111,753 110,456 1,297
101 e1214| 5,002 4,666 336
04 J|12ZtHIZ22NEES 5,002 4,666 336
OMYJIFAMHME S M EHI o2
41,680& * 108 » 42 * 33 5,002
201 et | 93,421 92,460 961
01 AFR 2t 2| H| 1,000 1,000 0
OHEEX FAU(LEEAESX) 5,0008 * 2002 1,000
02 Z2=2=24%4| 92,421 91,460 961
Ost=2HIlI= HE a3l 1,000,000& * 14! 1,000
Olgd 2422 A=l
1,850 * 24 = 8Al2F » 120& ~ 104 3,552
OHESESXHI(HHE A2, E21540|6t)
1,897 * 1,294m’ 2,455
O Z HSI HIIEA(BE)
500,000& * 1= » 13| 500
Og & CCTV KA E==H| 500,0008 = 24! 1,000
OMEZE HEII(0E) KX B4
2,000,000& = 14! 2,000
O & Bt xie &ola ItHiet =2l
1,000,000 * 14! 1,000
OZ4t)| &8 XH(Z=02129014, 0.8m") 22,875
- S50 1,850 = 154 = 2A12F = 250 13,875
— =2l 4| 1,500,000& * 63l 9,000
ogzZed H S X Hl (Z206L19215, 156E€) 8,088
—S&U 1,850& * 1Al2F ~ 114 = 250 5,088
— =2/ 4| 500,000& * 63| 3,000
OZ2d ZHISXH (FE09109003, 29&) 29,650
- S50 1,850& = 2Al12F = 184 = 250 16,650
— =2l 4| 1,000,000 * 33| 3,000
— X W& 5,000,000&¢ * 23| 10,000
OA8stE SXIH (ZE28243227, 1£) 7,056




PN BFIMNSA

HM: HIISA(BEES/HIIS)
R MYDIE R 29
(o
SN ED B (3H) - MEAY - BAS ol &k o8 %@ﬁ
- SFH
1,850€ * 6.006f =* 2Al2F » 250 5,556
— =2/ 4 300,000& * 53] 1,500
Odog gAALE)| S 22 10,480
-5
2,400 ~ 204 = 3AI2F x 108 = 7€ 10,080
— =2/ 4 200,000 = 23| 400
OMYJIFAMMMEE 22 WHI 8&
2,400 *« 24 * 8AIZ2F = 722 « 10Y 2,765
206 M = 8l 8,330 8,330
01 X2 8| 8,330 8,330
Ogelorg ¢l 4,830
—-=28 30,000 = 15kg *x 7& 3,150
= 30,000& = 8kg » 7& 1,680
Ogolor® M 7Y
100,0008 ~ hE ~ 7€ 3,500
401 Al HI L 204 HI 5,000 5,000
Al & H| 5,000 5,000
OMYIDJIAMIMEE JIHANE SRNES
3,000,000& = 14! 3,000
OMHIIKAMMMEE ANE2 RANES
2,000,000& = 14! 2,000
HE4LHEEY 89 50,352 50,352
201 et 9| 23,552 23,552
02 22244 23,552 23,552
OB AAMNE=E=2 (Kot 2E4 SLEUIMAIA)
20,000,000& * 14! 20,000
O&A&E4 HelZ H8suH=z2(£59)
1,850 = 24 = 8AI2t = 1202 ~ 104 3,552
206 M = dl 2,800 2,800
01 28| 2,800 2,800
OBELHAT +H28 2EY
5,000€ * 604 300
O&FBBxXeld JIHAE glzes 825 F¢
200,000® * 5= * 13| 1,000
OFB4+HUF HIANL RIS 25 2
100,000 = 10 = 13l 1,000
OREHH2AT Y BRAMHRANL IHKE
s 7 100,000& * 5= * 13| 500
401 Al HI L £ 0HHI 24,000 24,000
01 Al& b 24,000 24,000
HEELAHeld BES WA
2,000,000 = 4= 8,000




PN BFIMNSA

H: HIIS2e(HEES/HIIE)
S MYIIHEE 23 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFE+ Ml& HIIANE =2l
4,000,000& * 14! 4,000
O&&E= MadE ZAMA &8l =cl
4,000,000& = 14! 4,000
O¥E&E+ Ml EZ22 =cl
4,000,000& * 14! 4,000
OFE+ Ml 243 ¢E WHM=cl
200,000& * 2000 A& 4,000
Has 48 2el 196,977 197,730 AT753
101 14 Hl 148,797 149,550 AT753
04 JIZHHZ22XREES 148,797 149,550 AT753
OXrgIIHEEE d8XHY URY
41,6803 = 159 = 232¢ 145,047
OoOXrgIIMHEEE dE8XHII HYS
100,000& * 15%H * 23] 3,000
oXrgoIMess d8XPT AE3
50,000& = 159 « 13l 750
201 ¢et24] 7,130 7,130 0
01 At 22l 1,800 1,800 0
OMERAT 0IAT L BAPY
10,000& = 15¢% » 128 1,800
02 =224l 5,330 5,330 0
OMEESE HEF UYR 2y
1,850& = 2004 =« 43 1,480
Oo2ged KX 350,000& » 14! 350
OHAEZS 28I RAE=
3,000,000& = 1CH 3,000
OMgEs 48 KRA2el  500,0008 » 14 500
206 M= Hl 1,050 1,050 0
01 =8l 1,050 1,050 0
ONgss gy Mg+ 78 1,050
— =8+ 10,000& * 704 700
— A 7,000& » 5074 350
307 glz2tol & 40,000 40,000 0
05 RIZHRIE 3 40,000 40,000 0
OHMIF(HSM)E ML ==2
100,000& * 400& 40,000
HESENSHEANLLEIA () 3,000,000 0 3,000,000
= 900,000
< 200,000
Al 1,900,000
401 Al HI K 201 Y] 3,000,000 0 3,000,000
= 900,000
< 200,000




PN BFIMNSA

HM: HIISA(BEES/HIIS)
Ee: MYDIIHEE 29 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 1,900,000
01 Al& H| 2,991,900 0 2,991,900
OoMes3E8 NSEHEAE 8XAY
3,000,000,000&¢ = 99.73/100 * 14! 2,991,900
= 897,570
= 199,460
Al 1,894,870
03 A2 0HH]| 8,100 0 8,100
oMegs38 NSHEAE 8XAY
3,000,000,000& * 0.27/100 = 14l 8,100
= 2,430
o= 540
Al 5,130
DSESXYI| 20U M AISE (=) 100,000 0 100,000
= 50,000
Al 50,000
401 Al HI L £ 0HHI 100,000 0 100,000
= 50,000
Al 50,000
01 Al& B 100,000 0 100,000
OYGZ=ASHANSA LEDZEHE WHAFY
100,000,0008 * 14l 100,000
= 50,000
Al 50,000
sEXHedE 89 375,600 95,600 280,000
2n9M Hel 375,600 95,600 280,000
201 LBt Y| 5,100 5,100 0
01 AP 22| d| 5,100 5,100 0
Oslg 22X LISH (g2 e, BH2USHE)
70,0008 * 6Y * 5= * 13| 2,100
OFa%E 7 3,000
—Qa= 60,000 = 10= 600
—LEs 100,0002 * 6% * 43| 2,400
206 M = dl 4,500 4,500 0
01 X2 bl 4,500 4,500 0
O2=RMH™el JIHAE gXes 85 7
100,000& * 5= % 13 500
O2xRMH™el EIAE gizes 225 7
100,000& * 5= % 13 500
O/ MIYelAld A 2 232 2
100,000& * 5= % 13 500
O2xdMHelAld H=ED *¢
500,000& * 1= * 13| 500
Oz/MIYelAld &F:H 2+
5,0008 = 5004/ =* 13| 2,500




PN BFIMNSA

3 mHol=

e (BZES/HIIS)

tel: 2R 29 )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 A& HIZ 201 I 366,000 86,000 280,000
01 A& HI 363,840 86,000 277,840
Ok MRX =4 5,000,000& = 13l 5,000
O=fdXeAld g8 ™aldl =al
15,000,000& * 14 15,000
OSLSIMHRAANL 25 BE 22
1,000,000& * 3& 3,000
Oz=AMdH™2AIE X =2l
25,000,000& * 14 25,000
O=fdXelAld 3a=eldl A =cl
300,000,000& * 141 * 99.28/100 297,840
O=?dXelAld Se0lE 2HAH =cal
7,000,000& * 14! 7,000
O=fdXeAlE BH JlsE =2l
5,000,000& * 14! 5,000
O:fdXeAld 25 Hiote WM =cl
3,000,000& = 14 3,000
O=fdxXel HIAE =cl
3,000,000& = 14 3,000
03 Al S THHI 2,160 0 2,160
EofMHeALE FAE2I nH el
300,000,000& * 141 * 0.72/100 2,160
HE2IZH (EHF AL A)(DIEH/DIEH 94,371 91,231 3,140
el 2l 66,993 64,453 2,540
ol 2AH| 66,993 64,453 2,540
101 @124 dl 66,993 64,453 2,540
01 2= 66,993 64,453 2,540
O=l22+< 66,993
— B AAARR Y
8,754% * 6H » 36AI2t » 12E 22,691
—MYJIIMHEELEERIMHCIAE 2 44,302
N2 2222 (02220 e =2
2) 8,7543 * 2% * 3AIZ2t * 3652 19,172
o224 23,344 = 198 * 365¢ 8,521
S22+ 70,3733 * 2% = 118 16,609
Jl=&dl 27,378 26,778 600
Jl=dl 27,378 26,778 600
201 Let24dH] 5,058 5,058 0
01 At 22/l 5,058 5,058 0
O=AEXN 7 13,000& » 624 « 123 936
OS20AH| 6,000& = 64 ~ 6Y » 123 2,592
OLAa2 =&Yl 1,170
— ZEHy 2l 100,000 * 1CH * 50/100 50




SH BIANYA
Mz HMSAHH (SZALE A)(IIEH/DIIE
@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— T2l &Y 200,000& = 53] = 104 1,000
—PC =2l 100,000 * 6CH = 20/100 120
OJIEF AFR 22l bl 5,000& * 69 * 12& 360
202 04| 22,080 21,480 600
01 2LH O HI 22,080 21,480 600
O=2WA bl 22,080
— 2L o4 8] 20,0002 * 6% » 12& * 12& 17,280
— 2204 Hl 80,000& » 6% = 10 4,800
203 R =X | 240 240 0
02 MRt R =AY 240 240 0
OFAINNMALRFA 40,0008 *» 6Y 240




